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inta=1, b=2;
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printf(“a tt b /\");
}

inti=3;
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printf(“a tt b /N");

}
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boolean a = true;

while(a){
System.out.printin(“iX & L1 1ER]");

}
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intx=1y=1;
if(x++==2 && ++y==2) {
X =7;
}
System.out.printin("x="+x+",y="+y);
48R x=2,y=1;
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intx=1y=1;
if(x++==2 & ++y==2) {
X =7;
}
System.out.printin("x="+x+",y="+y);
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class Demo {

void show(int a,int b,float c){}

}

A.void show(int a,float c,int b){}

B,void show(int x,int y,float z){}



C.int show(int a,float c,int b){return a;}

D.int show(int a,float c){return a;}
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public class Test()

{
public static void main(String[] args)
{
System.out.printin(*"+'a’+1);
}
}
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short s = 23;
s += 23; AR T s = (short)( s+23 );
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